Arvika BS
Varsilver 2019-02-18

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 168.2. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 7 196.7 58.53  Karl-Erik Backelin - Hakan Stromberg 24959 12422  Arvika BS
2 4 192.5 57.30 Lars-Olov Fisk - Lars Bergman 43956 41304  Arvika BS
3 6 187.7 55.85  Per Dahlman - Roland Dahiman 19305 3666  Arvika BS
4 16 187.1 55.69  Mikael Skoog - Kent Rérqvist 11067 2491  ArvikaBS
5 13 182.0 54.17  Krister J Karlsson - Tomas Kéastel 57098 20786  Arvika BS
6 17 179.8 53.51  Jonas Karlsson - John-Olov Andersson 17920 2893  ArvikaBS
7 18 179.8 53.51  Gésta Frodin - Linnar Holgersson 78240 21188  Arvika BS
8 15 178.0 52.98  Sven Andersson - Jan-Henrik Rundh 3675 20253  Arvika BS - Hagfors BK
9 3 177.8 52.92  Renée Blixt - Karin Backelin 60183 18001  Arvika BS
10 5 176.1 52.41  Eva Silvén - Birgitta Frodin 78302 80475 Arvika BS
11 8 170.1 50.62  Bjorn Andersson - Anders Sidenvall 60190 51484  Arvika BS
12 1 162.0 48.21  Eva Soderquist - Elisabet Rydbeck 80255 39543  Arvika BS
13 2 151.6 45.11  Bo Ekberg - Per-Enar Hedlund 41638 31936 Arvika BS
14 10 147.2 43.81 Odd Saetereie - Joar Brennodden - - -
15 11 1454 43.27  Peter Rongert - Urban Mentzer 8579 11111  ArvikaBS
16 9 132.2 39.34  Tord Sandstrém - Lars-Ake Wickman 64627 43957  Arvika BS
17 14 114.0 33.94  Remy Carlsson - Bertil Hogberg 41637 41294  Arvika BS
1 « EKn53 2 410875 3 « EKn43
Nord vD10875 Ost v K103 Syd v 1073
Ingen +10742 NS ¢ Kn5 ov + 87
»- &E854 #9642
4 K10972 «D8 494 4« D63 4976 48
v Kn32 v K64 vKn752 v D986 vD984 vEKn5
¢ Kn5 + EK6 ¢+ E8 + KD943 +532 ¢ EKD109
*E76 #K9532 #DKn1062 #9 #K75 &EKn108
464 4« EKKn2 4 KD1052
vE9 vE4 v K62
+ D983 ¢ 10762 ¢ Kn64
#DKn1084 *K73 «D3
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
15 2 34 0-4 *Q 200 137 03|13 1 34 S+1 A 170 137 03|11 6 4v V-1 a A 100 13.7 03
6 16 2NO -3 *Q 150 11.0 3.0|15 2 INS+2 #Q 150 11.0 30| 8 4 24S-1 *K -50 110 3.0
18 4 3NO-2 *Q 100 83 57| 6 16 24 S+1  #Q 140 83 57(13 2 3¢ V+2 8 -150 70 7.0
10 5 2NO-1 *4 50 57 83|10 5 1laS-= ¢ A 70 57 83|18 5 3¢ O+2 &K -150 70 7.0
13 1 2y N-1 ¢ A -50 3.0 11.0| 9 17 2¢ N-1 v6 -100 1.7 123(10 17 3¢ O+4 vK -190 3.0 11.0
9 17 2NO+1 %4 -150 0.3 13.7|18 4 44 S-1 *A -100 17 123(16 7 5¢ O= &K -600 0.3 137
- 11 61| - 11 61| 1 - 6.7
7 3 A=/A= 70 70| 7 3 A=/A= 70 7.0| 9 14 A=/A= 70 7.0
14 8 A=/A= 70 70|14 8 A=/A= 70 70|15 3 A=/A= 70 7.0
4 43 5 « KKn104 6 a-
Vast v KKn10542 Nord v Kn98 Ost v E97
Alla ¢+ Kn4 NS +10 ov + E983
&»EK73 #DKn952 &#KDKn652
« KDKn9 4 E8762 4 D76 48 « DKNn1083 4 K76
vE63 v D98 vK1063 v D742 v 105 v KD863
+ K10753 ¢ D9 +95 + EDKn632 ¢ Kn42 + D76
*4 #Kn62 #EK74 4108 #E107 *43
41054 4 E9532 4 E9542
v7 vE5 v Kn42
¢ E862 ¢+ K874 ¢ K105
#D10985 #63 #98
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
18 5 44 O-2 v7 200 137 03|16 8 3NV-4 aT 200 139 01|16 8 3NN= v6 400 139 0.1
11 6 3vy N= +Q 140 11.0 3.0| 6 18 34 S+1 #A 170 116 24|14 10 34 V-2 *K 200 116 24
13 2 24 O+1 w7 -140 83 57 2 1 2¢0-1 vA 50 81 59 9 5 24N+3 &3 150 9.3 47
8 4 34aV+1L ¢ -170 43 97|13 3 44 O-1 vA 50 81 59| 6 18 24 N+2 vK 130 47 93
16 7 34 O+1 v7 -170 43 97|17 11 44 S-1 *A -100 47 93|13 3 24 N+2 &3 130 47 93
10 17 44 O= v7 -620 03 137 9 5 4¢ 0= vA -130 24 116|17 11 3« N+1 vK 130 47 93
1 - 6.7 14 10 29 V+1 T -140 01 139 2 1 2#N+1 vK 110 0.1 139
9 14 A=/A= 70 70| - 7 82| - 7 8.2
15 3 A=/A= 70 70| 4 15 A=/A= 70 70| 4 15 A=/A= 70 7.0
7 « DKn10 8 a4 9 « Kn94
Syd v KKn97 Vast v D862 Nord v-
Alla ¢ EDKn Ingen + KD65 ov + DKn854
+D105 #K1093 #Kn10876
498642 4 E753 48652 & EKDKnN107 4 EK86 4D532
vD106 ¥E85 vKn4 vE53 vE8 vKD765
+5 + 10864 ¢Kn83 ¢102 ¢ EK103 ¢ 962
#K987 463 #E865 #D4 «D95 *E
+K 493 107
v432 vK1097 v Kn109432
¢ K9732 ¢ E974 *7
#EKn42 #Kn72 K432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 2 3NN+2 &3 660 137 03| 3 2 44 0-1 v9 50 11.0 30| 2 9 64 O-2 v] 200 13.7 03
7 18 3NN+1 46 630 70 7.0 7 18 44 O-1 43 50 11.0 30| 4 3 2v0O= *7 -110 11.0 3.0
13 4 3NN+1 43 630 70 70|13 4 44 0-1 vT 50 110 3.0|11 7 3NV+1l &J -630 70 7.0
14 11 3NN+1 43 630 70 7.0[10 6 3a4V= ¢ A -140 43 97|13 5 3NV+1l &6 -630 70 7.0
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15 5 3NN+1 3 630 70 70|15 5 340= 49 -140 43 97|15 6 2¢vDS-4 &A -800 3.0 11.0
10 6 2NN+1 &6 150 0.3 13.7|14 11 44 O= *A -420 0.3 13.7|18 8 64 V= +Q  -1430 0.3 137
17 - 7.5 17 - 7.5 14 - 4.8
1 8 A=/A= 70 70| 1 8 A=/A= 70 7.0|10 16 A=/A= 70 7.0
16 9 A=/A= 70 70|16 9 A=/A= 70 70|17 1 A=/A= 70 7.0
10  Kn98543 11 «D 12 « E965
Ost v7 Syd v E10986 Vast v 104
Alla ¢+ DKn104 Ingen + KKn85 NS 4 Kn10975
&#Kn5 942 102
« D762 #4EKI10 4 E854 4109 «Knl102 «KD84
vKn52 vEK64 vDKn4 vK753 vKD83 vKn65
496 + K732 ¢ED9 732 +D + E83
#K742 #106 K87 #E1063 #ED765 #Kn98
@- « KKn7632 473
vD10983 v2 vE972
¢ E85 + 1064 ¢ K642
#ED983 #DKn5 *K43
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 5 34 V-3 v7 300 137 03|15 7 4vO-4 *4 200 137 03|18 9 100 13.7 03
2 9 24S+1l a2 110 110 3.0(18 9 24 S+1 ¢9 140 11.0 3.0|16 11 INV= +J -90 11.0 3.0
4 3 -100 70 7.0[16 11 24 N= A 110 83 57| 3 10 2¢v V+1l &T -140 83 57
18 8 24 N-1 &T -100 70 70|13 6 3v0O-1 »5 50 57 83|14 1 2NO+3 v2 -210 57 83
11 7 2¢S-5 a2 -500 1.7 123| 3 10 INV+l v6 -120 17 123[13 6 3NO= v2 -400 3.0 11.0
15 6 34DS-2 9 -500 17 123(14 1 INV+1 v6 -120 17 123(15 7 3NO+1 v7 -430 0.3 137
14 - 4.8 - 8 71| - 8 7.1
10 16 A=/A= 70 70| 2 17 A=/A= 70 70| 2 17 A=/A= 70 7.0
17 1 A=/A= 70 70| 5 4 A=/A= 70 70| 5 4 A=/A= 70 7.0
13 « D754 14 « KKn94 15 « E874
Nord v9 Ost v 54 Syd v K9
Alla ¢ Kn10973 Ingen ¢ 1072 NS ¢ E4
#E93 #E532 #E8642
4E932 4108 4 D8632 45 4932 106
vED10 v87432 v76 v Kn82 v54 v DKn10862
+ KD + 864 ¢ KKn94 ¢ EDG63 ¢+ KKn952 ¢ D86
#D852 #KKn4 #109 #KDKn64 #1075 #KKn
« KKn6 « E107 « KDKn5
v KKn65 v EKD1093 vE73
¢ E52 ¢85 ¢ 1073
#1076 £87 D93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 11 29 0O-2 +J 200 137 03| 4 11 2v S+3  &T 200 110 30| 7 6 44 N+2 49 680 116 24
17 3 1a N= v8 80 110 3.0| 7 13 2vS+3 +¢6 200 11.0 3.0|15 9 44 N+2 &K 680 116 24
7 13 3¢ N-1 aT -100 83 57|17 3 3vS+2 aT 200 110 3.0|16 1 44 N+2 vQ 680 116 24
1 9 2vV= +J -110 57 83| 1 9 2vS+2 ¢4 170 57 83| 2 10 44 S+1 ¥5 650 59 81
14 2 3v0O= *A -140 17 123[15 8 44 O-2 vA 100 3.0 11017 4 44 N+1 +¢Q 650 59 81
15 8 29 O+1 3 -140 17 123(14 2 4vyDS-1 &T -100 03 13.7| 8 13 3NN+1 +¢Q 630 24 116
16 - 7.8 16 - 7.8 14 3 44 S= v5 620 0.1 13.9
6 5 A=/A= 70 70| 6 5 A=/A= 70 70| 5 - 7.3
18 10 A=/A= 70 7.0|18 10 A=/A= 70 70|11 18 A=/A= 70 7.0
16 « KKn103 17 « KDKn1073 18 465
Vast v 96 Nord v K1063 Ost vD63
oV ¢ E643 Ingen +D NS + KD6542
&E75 &E5 *43
498764 &D5 &~ E82 465 « EKn & 87432
vKnl0 vKD753 vKn742 vD98 v 108742 vE5
¢ 102 + KKn987 410942 ¢ 865 +93 + E1087
#KDKn9 &8 &D7 #Kn8643 #KD86 4105
4 E2 494 « KD109
v E842 vE5 v KKn9
+ D5 ¢ EKKn73 ¢ Kn
#106432 #K1092 &#EKN972
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 1 2¢yDO-2 v2 500 139 01|16 2 64 N= a5 980 140 0.0|17 5 INN+1 ©vA 120 140 0.0
8 13 INS+3 &K 180 116 24| 3 11 3NS+3 v4 490 100 40|13 9 3¢ N= vA 110 120 2.0
15 9 INS+1 &9 120 93 47| 4 14 3NS+3 v2 490 100 40| 3 11 INN= a2 90 10.0 4.0
7 6 INS= &K 90 70 7.0|15 10 3NS+3 ¢2 490 100 40| 4 14 3NN-1 vA -100 4.0 10.0
2 10 3#S-1 *T -50 36 104| 6 1 44 N+2 &6 480 30 11.0| 6 1 3¢ N-1 vA -100 40 10.0
17 4 2NN-1 vK -50 3.6 104| 8 7 44 N+2 &5 480 30 11.0| 8 7 3NS-1 v4 -100 40 10.0
14 3 34 N-3 »8 -150 0.1 139|13 9 44 N+2 &8 480 3.0 11.0|15 10 2&S-1 s A -100 4.0 10.0
5 - 7.3 17 5 44 N+2 &6 480 3.0 11.0|16 2 2¢ N-1 vA -100 40 10.0
11 18 A=/A= 70 70|18 - 7.5 18 - 7.5
19 453 20 «D5 21 465
Syd v74 Vast vK7632 Nord vKn7
(6)) + K54 Alla + D983 NS ¢ 109832
#K109842 &EKn #DKn92
4E986 &KD 410962 &KKn7 4EKN9 D4
v EK532 v DKn9 vD v EKn8 vK1065 v982
¢73 + ED986 ¢ 10754 ¢ EKG6 + Kn6 + EK7
#Kn5 #E63 #9876 &KD103 K875 #E10643
4« Kn10742 « E843 # K108732
v 1086 v 10954 vED43
¢ Knl102 ¢ Kn2 + D54
&D7 &542 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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5 14 6v V-2 a5 200 140 0.0|13 10 24 0+2 vT -130 140 00| 5 1 440-1 48 50 139 0.1
9 8 6v V-1 *9 100 120 20(17 6 24V+1 ¢33 -140 120 20|18 2 240+1 3 -110 116 24
13 10 4v V+1 45 -650 90 50(16 3 2NO+1 vT -150 10.0 4.0|10 9 2v V+l 46 -140 9.3 47
18 1 4y V+1 43 -650 90 50( 5 14 2NO+2 v4 -180 70 7.0({16 4 INV+3 46 -180 70 7.0
7 2 5vV+l w7 -680 6.0 80 9 8 2NO+2 &3 -180 70 7.0( 8 3 3NV= +3 -400 3.6 104
16 3 4y V+3 v7 -710 40 10018 1 3y N-2 *A -200 40 100|14 6 3NV= 46 -400 3.6 104
17 6 6y V+l v4 -1460 20 120 7 2 3NO+2 T -660 10 13017 7 3NV+1 v -430 0.1 139
11 15 6NV +1 #T  -1470 00 14.0(11 15 3NO+2 T -660 1.0 130 - 15 7.4
4 - 8.0 4 - 8.0 13 11 A=/A= 70 7.0
22 « 853 23 « KD876 24 « 10965
Ost v 1054 Syd v 104 Vast v 1087
ov + K1087 Alla ¢+ KD1073 Ingen *74
«D53 *Kn #Kn1076
4KD10 4E9 4542 4 Knl103 «4Kn84 4 EKD3
vKKn72 vE96 vED5 v K9762 vE6542 vK3
¢D652 ¢E9 ¢EKNn984 +6 ¢ KKn10 +D3
*84 #109762 *K6 #ED84 *43 #EKD85
& Kn742 «E9 a72
v D83 v Kn83 v DKn9
¢ Kn43 ¢52 ¢ E98652
#EKKn #1097532 92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 3 Pass 139 01| 5 16 4v O-1 4A 100 116 24|11 10 620-1 +A 50 116 24
18 2 INS-1 v2 50 116 24|14 7 4v O-1  4A 100 116 24|14 7 6NV-1 ¢4 50 116 24
5 1 2¢eV= 8 -90 93 47(15 1 4v O-1 A 100 116 24(18 3 6NV-1 *7 50 116 24
17 7 INS-2 v2 -100 70 7.0 9 4 2v0+1 4A -140 47 93| 9 4 44 0+1 +A -450 7.0 7.0
16 4 2v V= 8 -110 47 93|17 8 3vO= oA -140 47 93| 5 16 3NV+2 ¢7 -460 24 11.6
10 9 2vV+1l 48 -140 24 116(18 3 3vO-= s A -140 47 93|15 1 3NV+2 a7 -460 24 116
14 6 2NO+2 #A -180 0.1 13.9(11 10 3v O+1 A -170 0.1 139(17 8 3NV+2 46 -460 24 11.6
- 15 74| - 13 76| - 13 7.6
13 11 A=/A= 70 70| 6 2 A=/A= 70 70| 6 2 A=/A= 70 7.0
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